
Math 4. Homework 11. 

 

 

 

1. Simplify 

 

𝒙 + 𝟐𝒂 + 𝟏𝟏 = 𝟏𝟏 − 𝒙 − 𝒂 

 

 

2. How will the product change if? 

 

a. one factor increases two times 

b. one factor is three times smaller 

c. one factor increases 2 times and second factor decreases 8 times 

d. one factor increases 2 times and another factor increases 3 times 

e. one factor decreases 2 times and another factor decreases 3 times 

 

3. Remove parenthesis 

 

 7(3t – 5 + 4g) =  

 

4. Solve the following equations: 

𝑥 + 4 = −1 

 

 

 

 

5 − 𝑥 = −3 𝑥 − (−4) = 0 



 

5. *What number should be placed instead of “?”  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6. Move 3 sticks to create 3 squares. All squares must be equal in size. 

 

 

 

 

 

 

 

 

 

 

 

 



 

7. Remove 4 matchsticks to leave only 5 squares, ALL EQUAL IN 

SIZE 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8. For the given triangles make the correct fit of angles and sides. The figures 

are not to scale, so don’t try measuring angles with the protractor. 

 

    
a) 18cm, 20cm, 14cm          b) 50°, 85°, ?                       c) 28°, 72°, ? 

 

 

 

http://www.google.com/imgres?start=90&um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=st550XBcSOPysM:&imgrefurl=http://thexorb.com/Algebra/Triangle/Triangle.aspx&docid=G02PYcRiQ68S4M&imgurl=http://farm6.static.flickr.com/5086/5230258444_b82b074ce3_m.jpg&w=240&h=208&ei=NL0vUY7zDYL40gG994CQCA&zoom=1&iact=hc&vpx=699&vpy=140&dur=5607&hovh=166&hovw=192&tx=70&ty=95&sig=104262450623425410236&page=5&tbnh=129&tbnw=156&ndsp=24&ved=1t:429,r:6,s:100,i:22
http://www.google.com/imgres?um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=VUV8nylqVhVXpM:&imgrefurl=http://www.education.com/study-help/article/triangle-word-problems/&docid=PmZM-6LnYY6w9M&imgurl=http://01.edu-cdn.com/files/static/learningexpressllc/9781576856918/TRIANGLE_WORD_PROBLEMS_06.GIF&w=369&h=164&ei=z7wvUaX-PObq0AGDjYCYCA&zoom=1&iact=hc&vpx=776&vpy=331&dur=2640&hovh=131&hovw=295&tx=107&ty=84&sig=104262450623425410236&page=3&tbnh=120&tbnw=270&start=41&ndsp=25&ved=1t:429,r:58,s:0,i:291
http://www.google.com/imgres?um=1&hl=en&sa=N&rls=com.microsoft:en-us:IE-SearchBox&rlz=1I7WQIB_enUS507&biw=1114&bih=580&tbm=isch&tbnid=yfYM0Aw3n1lXSM:&imgrefurl=http://hotmath.com/hotmath_help/topics/scalene-triangle.html&docid=yWxgXG7BHfjbCM&imgurl=http://hotmath.com/hotmath_help/topics/scalene-triangle/scalene-triangle-image003.gif&w=200&h=150&ei=z7wvUaX-PObq0AGDjYCYCA&zoom=1&iact=hc&vpx=785&vpy=171&dur=1359&hovh=120&hovw=160&tx=83&ty=67&sig=104262450623425410236&page=2&tbnh=120&tbnw=152&start=17&ndsp=24&ved=1t:429,r:33,s:0,i:216


9. For the given intersecting lines find x.  The figures are not to scale, so don’t try 

measuring angles with the protractor. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

10. Son is 5 years old and his father is 30 years older. How many years later will 

the father be four times older than his son? 

 

 

 

 

 



11. A goat is tied to a stake in the corner of a building with a 5-yard-long rope.  What 

shape it will graze if the lengths of the walls are as follows: 

 

1.   AB =6 yards and BC = 7 yards                 2. AB =4 yards and BC = 5 yards 

 
 

 

 

 

 

 

 

 

12. Solve the following equations (hint: do the substitution):  

Example:  (𝑦 + 5)3 = 7 

𝑠𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑖𝑜𝑛: 𝑦 + 5 = 𝑧 

𝑧 ÷ 3 = 7 

𝑧 = 7 × 3 = 21 

𝑦 + 5 = 21 

𝑦 = 21 − 5 = 16     Check: (16 + 5) ÷ 3 = 7 

 

𝑎) (𝑥 − 12) × 8 = 56 

 
b)124 ÷ (𝑦 − 5) = 31 
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